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QUESTION 1

An engineer must place a Cisco UCS B-Series Server in a single server pool in Cisco UCS Manager. The engineer
creates a qualification policy, but the server is still seen in multiple pools. Which two actions resolve the issue? (Choose
two.)

A. Select the Server Pool Policy Qualification from the qualification drop-down menu in the Server Pool Policy

B. Select the Server Pool Policy from the qualification drop-down menu in the Server Pool Policy Qualification

C. Set the operating system qualifier inside the Server Pool Policy Qualification

D. Set the number of vNICs qualifier inside the Server Pool Policy.

E. Set the storage capacity qualifier inside the Server Poo. Policy Qualification.

Correct Answer: AC

QUESTION 2

Refer to the exhibit.

NS¥# show interface wvifc2
vfc2 is trunking
Bound interface is Ethernetr 101/1/2

Port mode is TF
Port v=an is 102
Trunk vsans (admin allowed and active) (102)

Trunk vsans (up) ()
Trunk vsans (isolated) ()
runk vsans (inictializing) (102)

NS¥%# show lldp interface 101/1/2
Interface information:

Enable (tx/rx/dcbx): Y/Y¥/Y Port Mac address: ca:e9:f5:21:c2:0d
NoK# |

The FCoE traffic fails to traverse the vfc2 interface. The VSAN 102 is configured for vfc2. Which action resolves the
issue?

A. Enable LLDP on the interface vfc2

B. Activate DCBX on the N9K switch
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C. Activate DCBX on the interface €101/1/2
D. Enable LLDP on the neighbor switch

Correct Answer: D

QUESTION 3

Refer to the exhibit.

T e X

5 ¢ @ £ =0 hiips//192.168.101.131/index himi#CIMC - @Y

%= s Cisco Integrate Site Information for 192.168.101.131

n /oo Security Managen £ Connection not secure » - | Poshe— | s | vy |

Certificate Management ecure Ki i
9 s <Y 93 Permissions

Serial Number : F3 S N P DS y ;
Subject Information:

Country Code (CC) : us

State (3) : California

Locality (L) : San Jos=

Organization (0O) : Cisco Self Signed
Organizational Unit (OU) : PID:UCSC-C220-M4L SERIAL:
Common Names (CN) : C-seriss CIMC

Issusr Information:

Country Code (CC) : Us

State (3) : California

Locality (L) : San Jose

Organization (0O) : Cisco Salf Signed
Organizational Unit (OU) : PID:UCSC-C220-M4L SERIAL:
Common Name (CN) i C-series CIMC

Valid From : 88p 25 06:45:29 2017 GMT
Valid To : Sep 24 06:45:29 2022 GMT

An engineer cannot log in to the Cisco IMC page of the Cisco UCS C220 server. Which action resolves the issue?
A. Se the FQDN of the Cisco IMC webpage login page instead of the IP address for the connection to be secure.
B. Use the DNS of the Cisco IMC webpage login page instead of the IP address for the connection to be secure.

C. Replace the self-signed certificate that is installed on the Cisco IMC with a server certificate that is signed from the
client corporate certificate.

D. Replace the self-signed certificate that is installed on the Cisco IMC with a user certificate that is signed from the
client corporate certificate.

Correct Answer: C

QUESTION 4
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Refer to the exhibit.

NOK-A NIK-B

interface V1anl00 interface V1anl00

ip address 10.10.100.194/26 1ip address 10.10.100.155/26
ip router eigrp 50 ip router eigrp 50

ip passive-interface eigrp 50 ip passive-interface eigrp 50
hsrp 100 hsrp 100

authentication text paS$$word authentication text pa$Sword
preempt preempt

priority 150 priority 120

timers msec 500 msec 1000 timers msec 300 msec 1500

ip 10.10.100.193 ip 10.10.100.193

no shutdown no shutdown

NS9K-A# sh hsrp brief
*:IPvé group #:group belongs to a bundle
P indicates configured to preempt.
Interface Grp Prio P State Active addr Standby addr Group addr
V1anl00 100 150 P Active local unknown 10.10.100.193 (conf)

N9K-B# sh hsrp brief
*:IPvé group #:group belongs to a bundle
P indicates configured to preempt.
Interface Grp Prio P State Active addr Standby addr Group addr
V1ani00 100 120 P Active local unknown 10.10.100.193 (conf)

The HSRP instance on both switches is showing as active. Which action resolves the issue?
A. Configure the HSRP timers to be the same.

B. Allow VLAN 100 between the switches.

C. Configure the IP address of N9K-B on the same subnet as N9K-A.

D. Configure preempt on only one of the switches.

Correct Answer: B

QUESTION 5
DRAG DROP
Drag and drop the types of SPANs from the left onto the correct use cases on the right.

Select and Place:
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Mirror all of the traffic to and from an EPG to a
remote destination

Mirror all of the traffic to and from the spine
switches to a remote destination.

Mirror all of the traffic to and from the leaf host
ports locally.

Mirror a virtual interface on a virtual machine to
a remote destination.

Correct Answer:
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